Name: ______________


7-3 Tangent Word Problems Notes
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The angle of _________________ is the angle formed between the horizontal and the line of sight looking downward. 

The angle of __________________ is the angle formed by the horizontal and the line of sight while looking upward.

1) A painter places a ladder 3 m from a wall so that the ladder makes a 70° angle with the ground.  How far up the wall does the ladder reach?
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2) The shadow of a tree is 30 ft.  The sunbeam makes a 60° angle with the ground.  Find the height of the tree.

   ☼
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3)  If a boat is 150 metres from the base of a cliff that is 90 metres high, what is the angle of elevation from the boat to the cliff top? 

4)  A man is looking out his window 100 m from the ground.  At an angle of depression of 70 degrees he sees his car.  How far is the car from the bottom of the building? 

7-3 Tangent Word Problems Assignment

1) A guy wire fastened 40 m from the base of a television tower makes an angle of 60° with the ground.  How high up the tower does the guy wire reach?
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2) A communication tower is 450 m high.  From a ship at sea, its angle of elevation is 4°.  Find the distance from the ship to the tower.
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3) To measure the height of clouds at night, airport controllers can beam a light vertically and measure the angle of elevation of the spot of light made on the clouds.  How high are the clouds in the diagram?
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4) A gorge of rectangular cross section is 65 m wide.  The angle of depression of a corner when viewed from the opposite edge is 70°.  How deep is the gorge?
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5) Rectangle ABCD measures 6 by 3 cm.  Find the measure of <A.
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6) A helicopter hovers directly over a landing pad on the top of a 125 m tall building.  The angle of elevation of the helicopter to a person 145 m from the base of the building is 58°.  How high above the landing pad is the helicopter?
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7) The angle of elevation to the top of a tree, measured from a distance of 30 m is 15°.  Find the height of the tree.

8) What is the angle of elevation if a ramp with a height of 1 metre and a horizontal length of 3 metres? 

9) The base of a grain auger is 25 feet away from the storage tank. The angle of elevation at which it can safely be used is 75°. What is the maximum height to which it can reach, assuming that it dumps right at the edge?

